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Let’s take a quiz

Group: Points:

1. Match pictures to the names of monuments with arrows: /5

a) St. Elisabeth Cathedral

b) Jasovska Cave
c) Planetarium
d) Jasov Monastery

e) An observation tower
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2. Solve the crossword and fill in a quote: /6+1
"What is a ? A single soul in two bodies."
1 ]
2. | |
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4. | [ ]
5.
6.

1. The first name of an important Hungarian author, poet whose plaque you saw in
KoSice, Hlavna street.

2. In Jasovska cave there are bones of _ and hyena.

3. This place is situated in Jasov monastery. It was an important centre of learning
because it was full of books.

4. What is the name of the Cathedral in KoSice? It is called after a Hungarian
monarch.

5. Itis the science about stars, planets, comets and galaxies.

6. The name of the hill on which an observation tower and ruins of castle are
situated.



—\% FRIENSHIP WITHOUT BORDERS

GR pre vzdelavanie a kultdiru Priate I’StVO b ez h ran |,C

Program celoZivotného vzdelavania

Jasovska cave is located in: 11
Slovak paradise c) High Tatras

Slovak Karst d) Low Tatras

There are 18 species of in the Jasovské& cave and they mostly live here in
winter: 11
bats c) butterflies

birds d) spiders

Monastery in Jasov has got symbolic: 11
200 windows, 5 chimneys c) 365 windows, 12 chimneys

150 windows, 111 chimneys d) 50 windows, 2 chimneys

How many planetariums are there in Kosice? 11
2 c) 8

6 d 1

On top of Hradovd hill, in 1312 one battle took place. What was its name? 11
the battle of KoSice c) the battle of Slavkov

the battle of Rozgony/Rozhanovce d) the battle of VVavrisovo

An observation tower in KoSice offers beautiful views on several hills that surround

Kosice: 11
Volovské and Slanské hills c) Vihorlatské hills

Levoca hills and Slovak paradise d) Bukovské hill

Find the words in a word search /9

museum, cathedral, gothic, monastery, bear, cave,
astronomy, language, battle
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